


















    





10000451315-355

99.60.04123216-1740
1.4961-5105 0.6421332
010.8255251215-16100

( )(cm)(cm)

96.90.341750317-2230
1000059416-3020
1000031615-3310

( )
A=b/a
( / )( )b( )a

100cm 0%
= 100cm A A / 100cm A 100

93.40.13753315-1750
3.8632-4107 0.6648733
02.07392189313-27100

( )(cm)(cm)

1000043313-2430

( )
A=b/a
( / )( )b( )a

021.75129865970.11-0.2430( )

90.02.1811335190.09-0.2231
96.10.841481770.10-0.1832

( )
A=b/a
( / )( )b( )a(m3)( )

NCS

L/m3

018.6125046720.16-0.2140( )

98.90.21643030.10-0.2040.5
100002500.06-0.1741

( )
A=b/a
( / )( )b( )a(m3)( )

NCS

L/m3
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